N & 0l & AF S & M M

N
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~
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H
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z
ne
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2 ol e
HH: 02 AS O
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el

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2

%
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[

,592,864 14,256,411 A663,547
,215,460
, 130,000
, 780,771
,466,633

Q
T
B>
Jn
S
0

,975,275 6,982,138 A2,006,863
,082,330
385,000
590,610
1,917,335

o=
G IS I N SRR

H =

=4
i
0z
z
S
2
P
0x
~

, 195,611 5,495,614 21,300,003
1,902,330
185,000
530,610
1,577,671

HH = H

e
Y]
%
2
rx
o
i
e
e
2
rx

,314,000 1,350,000 236,000
1,051,000
131,500
131,500

HH A

201

e
1
H0
0
=

3,000 3,000 0
2,400
300
300

HH W

il
al
o

©
e 40
e
(=)
>
0y
Ja
Q
10
>
10

3,000 3,000 0
2 el 3,000
2,400

300
300

Mo

202 04l 5,000 5,000 0
4,000
500
500

MW

01 2Ly 01 bl 5,000 5,000 0
OO0 M AHAD ET O]
20,0002 *5% *502 5,000

4,000
500
500

M A

402 2I2tXt=01 & 1,306,000 1,342,000 A 36,000

1,044,600
130,700
130,700

M A

02 QAT 2AMLEE(0IXTHE) 1,306,000 0 1,306,000
OHANHHZH AL 1,306,000
1,044,600

130,700
130,700

HH A

Hotold e RJH X 143,000 152,000 29,000




SN WYL
M OE AS OF
SOl O{Y ML JIBHE N EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 71,500
s 71,500
307 glz2tol & 143,000 152,000 A 9,000
< 71,500
s 71,500
02 It M AHE X 143,000 152,000 A 9,000
O E HPERFH N 143,000
< 71,500
s 71,500
sUEFSSANSE 50,000 50,000 0
402 BIZEXHE0| A 50,000 50,000 0
01 RIZt Xt 2 AL E = (REM &) 50,000 50,000 0
Oxdts=ESa=XE
10,000,000 =521 & Xl 50,000
HER Mol2EdE"E K& 29,000 29,000 0
< 8,700
e 20,300
307 glz2+ol & 29,000 29,000 0
< 8,700
i 20,300
02 QIZtE M AHEE 29,000 29,000 0
O&&A MHol2EdE2E= XA 29,000
< 8,700
s 20,300
SAE MXIIEAIE HE 120,000 933,200 A 813,200
Xl 60,000
< 18,000
i 42,000
402 RI2HXt20l ™ 120,000 933,200 A 813,200
Xl 60,000
= 18,000
[ia 42,000
02 212t 2 AL EZ (01X TH ) 120,000 0 120,000
O ST IIBAIE (10HL) 120,000
Xl 60,000
< 18,000
i 42,000
A ELMSEZETHIE ALY 36,000 36,000 0
307 g1zl & 36,000 36,000 0
02 It HAHEE 36,000 36,000 0
Ot E4E ZEHTHAH 36,000
Y=o AR 3,000 3,000 0
203 YR =& 3,000 3,000 0
03 AIBFAH S =AY 3,000 3,000 0




2N

M OE AS OF
SOl O{Y ML JIBHE N EERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ol =4t R =& | 200,000& x153] 3,000
sAMSSHEHA B2 40,980 40,980 0
= 20,490
< 6,147
[ 14,343
402 RIZ2EX201 ™ 40,980 40,980 0
= 20,490
< 6,147
e 14,343
02 RIZEXt2 AL EZ (OIS ) 40,980 0 40,980
Ox=dSESZEN LA 40,980
= 20,490
< 6,147
[ia 14,343
SAHE ASH 2= 8,100 12,960 A 4,860
402 RI2EX20| M 8,100 12,960 A 4,860
01 212t 2 AL E = (REMTH ) 8,100 12,960 A 4,860
OAAZ A=H 2= 8,100,000 *2IH 2 +50% 8,100
dEd BRE B2 980,000 974,500 5,500
= 490,000
< 147,000
s 343,000
402 BI2FX=01 M 980,000 974,500 5,500
= 490,000
< 147,000
s 343,000
02 QI EAILSEZ (01X THS) 980,000 0 980,000
OrEE 2HISAE 20,000 *70,00000 x70% 980,000
= 490,000
< 147,000
[ia 343,000
SAZDEA 2H X 112,500 157,500 A 45,000
402 RIZ2EXt20l ™ 112,500 157,500 A 45,000
01 RIZE Xt 2 AL E = (REA &) 112,500 157,500 A 45,000
OLAZIALA UL XY
150& *1,500,000L4 x50% 112,500
Heg =FJ/& &4, 844X ud XA 169,600 163,200 6,400
= 84,800
< 25,440
e 59,360
402 RIZEX20l A 169,600 163,200 6,400
= 84,800
< 25,440
e 59,360
02 LA TEALEZ(0IETHR) 169,600 0 169,600




S A off 2 ==4tmt

B OE AS O H
ol Ol M JIBE A GEERED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
ONEE8 L=&J|& &4, 88|&4X, WM X& 169,600
= 84,800
= 25,440
= 59,360
UANHE XS3HAIE HHYH XS 200,000 176,000 24,000
N 125,000
& 22,500
iy 52,500
402 SI2F 20| ™ 200,000 176,000 24,000
N 125,000
& 22,500
o 52,500
02 X2 A E X (0| & THS) 200,000 0 200,000
OLAMNHE XISSAIE HEHAA 200,000
Xl 125,000
= 22,500
= 52,500
HEHSE HH XS 20,000 40,000 A 20,000
402 RI2H X 20| M 20,000 40,000 A 20,000
01 It EANSEXZ (M) 20,000 40,000 A 20,000
OHEH G AL XS 1,000,000 x20CH 20,000
S=AMOIOFM B EE S X 7,480 7,480 0
&< 3,080
= 4,400
307 2iz2to| & 7,480 7,480 0
& 3,080
= 4,400
02 QIZ2FAAAIE E X 7,480 7,480 0
O£=40 Ot H EE2 K& 7,480
o= 3,080
= 4,400
UASAMSE HHEE XS 112,400 112,400 0
& 33,720
= 78,680
307 QI2t0| ™ 112,400 112,400 0
= 33,720
= 78,680
02 QI2tAAMAIE E =X 112,400 112,400 0
OYALUE HHZE XD
400,000 28101 Ot 112,400
= 33,720
= 78,680
HEXI e AZALS 20,000 14,000 6,000
402 SI2FXHE0| & 20,000 14,000 6,000
01 BIZtXIEAY B X (KM ) 20,000 14,000 6,000




S A off 2 ==4tmt

M OE AS OF
el ORI M AN JIBHE A (S5 &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHFXl 2t & I AHY 2,000& %20, 000kg*50% 20,000
=ME2E Jt2ldl T2 2 XA 100,000 100,000 0
402 RIZEX201 A 100,000 100,000 0
01 U2 E2AILE X (KA 100,000 100,000 0
O=2M2E Jteldl T2 X3
203 %125, 000IH1 *80ha*50% 100,000
Jreitdl Al MEY e NI AMY 50,000 50,000 0
402 RI2HX=201 M 50,000 50,000 0
01 2I2E 2 A B (KM ) 50,000 50,000 0
OJteldl A8 e 7 N2
8,000& *12,50091 x50% 50,000
AN 202 A 2&d X& 80,400 80,400 0
402 2I2H X201 M 80,400 80,400 0
01 2IZEH 2 A B (KM ) 80,400 80,400 0
OA2gHONNE =D 2 UM 2LH XA 80,400
e Mol24 282 A 15,000 15,000 0
< 4,500
i 10,500
307 glz2+ol & 15,000 15,000 0
< 4,500
s 10,500
02 IZtE M AMHEE 15,000 15,000 0
oO0d MolEaEEE XA 15,000
< 4,500
s 10,500
T=EFEEFEILENE 37,000 37,000 0
= 18,500
[ia 18,500
402 RI2HXt20l ™ 37,000 37,000 0
< 18,500
s 18,500
02 2IZt X2 AL EZ (OIS ) 37,000 0 37,000
O+==F4E5E=4HNE 37,000
< 18,500
s 18,500
HEAHNUHX 2ES(EBIZ) 240,000 240,000 0
= 180,000
S 18,000
i 42,000
402 RI2HX=01 M 240,000 240,000 0
= 180,000
< 18,000
s 42,000




S A off 2 ==4tmt

M HE AS 2HF
el ORI M AN JIBHE A (S5 &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 QI EASEZ (OIS ) 240,000 0 240,000
OXEFUHUHXES AL
100,000, 000& *34! x80% 240,000
= 180,000
< 18,000
s 42,000
FHXEN, AHsSA2s4Hl, VHF-0SC S A EHHl E3( 7,980 7,980 0
HEAMNDUHEAAE 2F)
= 3,990
< 1,197
s 2,793
402 RI2EXt20l ™ 7,980 7,980 0
= 3,990
< 1,197
[ia 2,793
02 2IZt 2 AL EZ (OIS ) 7,980 0 7,980
O+ XN, NsAst&Hl, VHF-0SC & ¢A &
H ES(HEAMDHEAIAE 2F) 7,980
= 3,990
< 1,197
i 2,793
HATMHMEX R (OtFelAE SUEH) 73,500 147,000 273,500
= 36,750
< 11,025
s 25,725
402 RIZEXt20l ™ 73,500 147,000 AT73,500
= 36,750
< 11,025
[ia 25,725
02 22t X2 AL E X (01X THE) 73,500 0 73,500
OJtSFelAle SUsALY
105,000,000 * 170 2 *70% 73,500
= 36,750
< 11,025
[ia 25,725
=2 A8 N2MFAE X 20,000 25,000 A5,000
402 RIZEX201 ™ 20,000 25,000 A5,000
01 RIZt Xt 2 AL E = (REA &) 20,000 25,000 A5,000
Ox=&2 428 N2NMIAE
10,000, 000& *4CH x50% 20,000
=8 D MAEI XNIAMY 6,000 24,500 A 18,500
402 RIZEX20| A 6,000 24,500 A 18,500
01 U2 EALE X (KA ) 6,000 24,500 A 18,500
Odt+=8 DL HHEDI 4,000, 0003 *3CH*50% 6,000
AaZ 2T X JAY 50,000 100,800 A 50,800




M ol =40
M HE AS 2HF
el Ofel M JIBHE Y (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 BI2FX=01 M 50,000 100,800 50,800
01 2I2E 2 A B (KR ) 50,000 100,800 A 50,800
ogag 22X ZZ X ALY
100, 000& =107 » 100ha*50% 50,000
g FHLS(QC) =2 2435 N 6,000 6,000 0
< 3,000
[ia 3,000
307 21201 A 6,000 6,000 0
< 3,000
s 3,000
02 It S AHE L 6,000 6,000 0
03dg =33 245 N 6,000
< 3,000
e 3,000
MEHLEHAES 24,571 25,714 AN1,143
= 17,200
< 2,211
s 5,160
307 glz2+ol & 24,571 25,714 A1,143
= 17,200
= 2,211
s 5,160
02 IZtE M AHEE 24,571 25,714 21,143
odzoid= 25 24,571
= 17,200
< 2,211
s 5,160
FHECNSE A=A 3,500 0 3,500
= 2,800
s 700
301 LAz 3,500 0 3,500
= 2,800
s 700
1MIIEELES 3,500 0 3,500
OXH=CXNG X2 3,500
= 2,800
s 700
HdIIF8D B2 NE 30,000 0 30,000
= 15,000
< 4,500
s 10,500
402 QI2H X201 M 30,000 0 30,000
= 15,000
< 4,500
s 10,500
02 QI EASEZ (OIS ) 30,000 0 30,000




S A off 2 ==4tmt

M OE AS OF
el ORI M AN JIBHE A (S5 &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O&EIIFXD B2 N 30,000
= 15,000
= 4,500
= 10,500
HA2LEDE AX. WM K 600 0 600
= 300
& 90
iy 210
402 SI2F 20| ™ 600 0 600
= 300
& 90
o 210
02 X2 A E X (0| & THS) 600 0 600
O ELEDS X WA K& 600
= 300
= 90
= 210
AANHE HE MXNHE HE 5,000 0 5,000
401 AlEHIZL 201 Y| 5,000 0 5,000
01 Al&H| 5,000 0 5,000
OUYAMNHEHEE HXoHE HE 5,000
AMHE S=MS=Ec HAM 28Kl 5,000 0 5,000
201 LBt 9H]| 5,000 0 5,000
01 AP 22| H| 5,000 0 5,000
OLAMNHE =AS2 HAMM 2EHA 2
100,000& x50& 5,000
HEDJI2% M 5,000 0 5,000
201 gEt2A | 5,000 0 5,000
01 AF2 2t 2| H| 5,000 0 5,000
OWHII=2T M 2,500,000 x24! 5,000
HXXN=EX KAFAY 70,000 0 70,000
402 SI2F X201 M 70,000 0 70,000
01 CIZEXIEANS EXR (MMM ) 70,000 0 70,000
OZXA=&X XA
14,000,000 x 104! *50% 70,000
AT Bl 659,700 1,357,700 A 698,000
= 180,000
Xl 200,000
& 60,000
= 219,700
AL (SMESE Y F) 250,000 225,000 25,000
Xl 200,000
= 50,000




2N
X ZH -
L= B

el

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
206 M=l 250,000 225,000 25,000
Xl 200,000
s 50,000
01 =8l 250,000 225,000 25,000
SMBSZHL YR 250,000
Xl 200,000
s 50,000
sl SIMYe=: 20,000 20,000 0
206 M= Hl 20,000 20,000 0
01 =8l 20,000 20,000 0
oUsll sRYE=R 20& *1,000,0000| 20,000
=gt U= 13,000 13,000 0
< 4,000
= 9,000
403 MHXI S S X201 & 13,000 13,000 0
< 4,000
[ia 9,000
02 SI| 2SO0l CH&t At 2 X CH & AF & I 13,000 13,000 0
Otz 50,000& *2600| 13,000
< 4,000
e 9,000
=JtAtel A 70,000 48,000 22,000
< 21,000
i 49,000
307 glz2tol & 70,000 48,000 22,000
< 21,000
s 49,000
02 It M AHE L 70,000 48,000 22,000
©=2JtAtel =04 500& *140,000kg 70,000
< 21,000
[ia 49,000
HEME ~0HALS 20,000 25,000 A5,000
307 2I2t0l A 20,000 25,000 A5,000
02 HAFHAANFEE 20,000 25,000 25,000
Odi=d= 0K 500& *40,000kg 20,000
soldE PHAS (RELH) 80,000 80,000 0
= 80,000
201 Let24d] 77,000 77,000 0
= 77,000
01 At 2teltl 77,000 77,000 0
OZEaL FHUX 77,000
= 77,000
202 O4dl 3,000 3,000 0




S A off 2 ==4tmt

B OE AS O H
el SMIY EESA (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 3,000
01 = LH o4 1l 3,000 3,000 0
OF=0l& & ZHESH 20,0008 «5H*30 3,000
= 3,000
S22 PHAS (HZEH)(SXHA) 66,700 66,700 0
< 20,000
s 46,700
201 Let24d]| 64,700 64,700 0
< 20,000
= 44,700
01 AP 2teltl 64,700 64,700 0
Ox&E4R & M 28 FH Xt 64,700
< 20,000
s 44,700
202 O4dl 2,000 2,000 0
01 =S LHYI 2,000 2,000 0
O =L HI 2,000
OtS 2ttt AS|JXH At 40,000 40,000 0
< 15,000
e 25,000
402 RIZFX20l A 40,000 40,000 0
< 15,000
e 25,000
02 U2 THEALEZ(0IETHR) 40,000 0 40,000
OltSAHU AS3 ZdAY
25,000,000 24 2 x80% 40,000
< 15,000
[ia 25,000
SolME22HMAL (SHItel 2 H) 100,000 350,000 A 250,000
= 100,000
201 LB-2d| 70,000 50,000 20,000
= 70,000
01 At 22l 70,000 50,000 20,000
Oofitel 2 M od Pz 70,000
= 70,000
307 21201 A 30,000 0 30,000
= 30,000
02 B AAFEX 30,000 0 30,000
Oollotel ==0H 500& *60,000kg 30,000
= 30,000
HEXNE=H 22| 119,964 128,824 A 8,860
HEXNEH 2 83,324 82,724 600
201 Let249y| 83,324 82,724 600




S A o Akt
X ZH - = AS OtN
(=R B o/ o

of &
SR

Ned 22 (cho &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
01 AFR2 22l Yl 4,000 3,400 600
O YBt+=gH| 3,000
OgXNENLd 22FFY 300,000& *63] 1,800
OEXNEHd HIIZB A2 300
OYRNEN AIRAS2HH| 150,000& *6 3] 900
om=s ¢ 1,000
02 =329l 79,324 79,324 0
03322 % MA 12,000
OHgXNE=Sd HHESE2 193,600& *12& 2,324
(OPNE=FaR=las] 65,000
HEXNEH =& 30,000 40,000 A 10,000
401 AIEHIL 201 30,000 40,000 A 10,000
01 Al& bl 30,000 40,000 A 10,000
ONHY RN T=H ADI22el 30,000
ZYHHY A= 6,640 6,100 540
201 LBEF2 9| 900 900 0
01 At 22l Yl 900 900 0
O Yet+2H| 900
O=gOHYE=2EEE &9 M
80,000& =54 400
OSHHYENEHS EEE H&
500& *1,000%& 500
202 04 bl 1,000 1,000 0
01 2LH O HI 1,000 1,000 0
SAI2AES EEAHI NS0
20,000& x5H x103] 1,000
308 AXISHAMSOIH 3,240 2,700 540
07 HXSHN2AEES 2 3,240 2,700 540
O=s”8HHYEHEI|I2 BEXZ2 X2 3,240
401 AIEHIL 20| 1,500 1,500 0
01 Al bl 1,500 1,500 0]
OE& Ztx DHHEHII Helbl 300,000& 53] 1,500
MIES2 MOUHEAHAE 8,511,526 7,160,710 1,350,816
= 133, 130
Xl 3,745,000
< 1,190,161
= 3,443,235
MXAHES XM 58,956 56,220 2,736
< 3,571
= 55,385
=NMPHHO RSHEX XJAY 17,856 15,120 2,736
= 3,571
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A o A D
Ha: 4)ES MOEAA
el Y oo A CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 300,000
s 700,000
01 A& HI 2,795,000 2,466,000 329,000
OHHHHIALY 2,795,000
O/ R2X 7 HtEHIALY 798,000
Xl 400,000
< 120,000
e 278,000
OgsX+ AAFHHA 1,997,000
Xl 1,400,000
< 180,000
s 417,000
03 Al 2 0HHI 5,000 4,000 1,000
OHCHEHIALY 5,000
OdctEHIAIY A2 20 5,000
HEZF=OUHEANLEES 800,000 600,000 200,000
< 240,000
[ia 560,000
401 AIEHI L 20 800,000 600,000 200,000
< 240,000
[ia 560,000
01 A& HI 798,000 598,000 200,000
OEZF=0NE HdFFE Hl 798,000
< 240,000
s 558,000
03 AlE 2 THHI 2,000 2,000 0
ONEE=NE HEFE FHl AIZF U 2,000
L2ARLEFHE RN ESAS (XA 250,000 345,000 A 95,000
401 Al HIZ 201 8] 250,000 345,000 A 95,000
01 A& HI 250,000 345,000 295,000
Ox2AZEFHERAE ALY 250,000
Osde 8T HEIAM 100,000
OXNEEY A4%E HUSA 100,000
Ostgg s ZHISA 20,000
OWEUW ANIEE SN2+ 30,000
A2AREFHERINEFAE 750,000 400,000 350,000
< 225,000
[ia 525,000
401 Al HIZ 201 8] 750,000 400,000 350,000
< 225,000
i 525,000
01 A& HI 750,000 400,000 350,000
OAREEFNE RAE=> 750,000
< 225,000




SN YA LD
Ha: 4)ES MOEAA
el Y oo A (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| o 525,000
L2EHA AL A2 11,800 1,320 10,480
201 €2l 1,800 1,320 480
01 At 22/l 1,800 1,320 480
OAENHHAAI BHA+==8  120,000& 1504 1,800
401 Al HIZ 201 8] 10,000 0 10,000
01 A& HI 10,000 0 10,000
OAgHHALI RAE > 10,000
L2EHA 12D X 140,000 210,000 A70,000
Xl 70,000
= 21,000
= 49,000
401 AIEHI L 2 CHYI 140,000 210,000 A70,000
Xl 70,000
< 21,000
[ia 49,000
01 A& HI 140,000 210,000 A70,000
OAEHH 12D &X 140,000
Xl 70,000
= 21,000
e 49,000
SEtlls 2&LAE X (XHA) 100,000 80,000 20,000
401 Al HIZ 201 I 100,000 80,000 20,000
01 A& HI 100,000 80,000 20,000
ORTWAX (24 2) 100,000
Sglls R&uwAE &1 100,000 100,000 0
Xl 80,000
e 20,000
401 Al HIZ 201 Y] 100,000 100,000 0
Xl 80,000
e 20,000
01 A& HI 100,000 100,000 0
O=glthlls BEuAE EXA 100,000
Xl 80,000
s 20,000
HdZHEZLFA 2,415,592 1,778,015 637,577
= 7,200
Xl 1,553,000
< 225,760
s 629,632
SAUSAMHE SE 22 10,000 10,000 0
201 Let2d] 10,000 10,000 0
01 AP 2teltl 7,000 7,000 0
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